FORM FOUR CLUSTER KCSE MODELS
CHEMISTRY PAPER 2 QUESTION

(a) (i) P : Protons 13V"2, mass number = 27V"2

Q: Neutrons 18V"2 E.C = 2.8.6V-

(ii) Period 3V1. Has three occupied energy levels.V1

(b) (i) XV Readily accepts electrons because of its smaller atomic size.V1
(i) Y, Z, and Q .V1. Ionic radii are smaller than atomic radii.v1

iii)

ANa,, + O, = Na,Q 1

(iv) Ionic bondVv1
(v) Acidicv1

(@) () CH3CH:CH:C= CH
i) Pent-1-yne

CH: =C— CHs; 1
|
CH- _
2-methylprop-1l-ene 1

[ESRUERE NIUR  S | [RR —

b)
T T I R
H H H H
I|‘I H
|
H _-C—¢C —¢C —H _
‘ | 41
H
H—(|:—H
H

(c) (i) (I) cpd N-Propane V1

(II) cpd P -Chloropropane//Monochloropropane.v1
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(ii) Process x —Dehydration.v1
(iii) (I) Addition reaction //hydrogenation (step 2)
(II) Step 3 —substitution//chlorination reaction.

(iv) 2- Chloropropane.v'1

s a

Tl
H—-—C—C—C—H
| | |
H c1 H

(@) The strength of an acid is the degree or extent of dissociation//ionization of an acid in aqueous
state; while concentration of an acid refers to the number of molesV or mass of an acid in a
unit/volume.v (2)

b)

In H,0+H,0 x—“‘ H.0+HOZ

Acid is H,0, 41 donate a proton H* to H20 to form H:O+
(i) (I) GRAPHS

(IT) Solubility of KNO, at 70° =156/100g +2g water.
CuSO at 70%=54g /£ 2g/100 of water.y2
(IIT) At 4” ¢ solubility of both salts use equal_*q"l
(IV)  Solubility of KNO, ar 100° ¢ 250g/ water.
Solubility of KNOz at 20° =30g/100 water=250-30=220g
330 g solution gave 220gv1
167 5

i 5 o

- 262 5g of solution — % 220241

-

Mass of crystals =165 gVv1
(a) (i) Dehydration.v1

(ii) To absorb CO, gas.V1

P50, + CO

ey = Pb, +CO, A1
b)

()  Unitl NaCl,,+NH, +H,0,+CO, —>NaHCO, +NH(CI, 1
()  Step Il 2NaHCO; —> NayCO; +CO, +H 0,1

(i) Filtration.V1

(iii) Calcium agent for gases.V2
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(iv) -Manufacture of glass.V1
-Manufacture soap powder/detergents.v1 (Any one correct use)
-Softening hard water.
AN AH, andAH, 1
ii) Atomicisation of oxygen gasv'1
iii) Condensationv'1
iv)
AHf = AH, +AH, + AH; +AH,
v) Exothemic. V1 Overall energy change is below reactants energy level.21
b) i) -Blue colour of solution fades.V1

-Brown solid deposited at the bottom of the container.v1
i)

-Cuggg:, + EH{__:, — Cu{::, + En{‘;_?:, Y1

i)

0.2 x50

- 1.0x10 meles\1
1000

iv)

1210 2mole —» 4.2 xlx 7%

(42%5%10%%7)
lmole — | — 1
| 10 2 )

= _147kI/mole1

a)i) Complete and well labelled diagram including either water or sodium hydrogen carbonate and
drying agent.v3

i)

CaCQq,_, +2HC!

sy apy —> CaCly,, +CO,, +H 0,41

ag)

b) -White powder and black specksv'1
-White powder is due to the formation of Magnesium Oxide.v1 Black specks due to the formation
of carbon.V1

c) Litmus changed to blueVv'1 because the resultant solution is a base.V1
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di) Sodium carbonate.v/1 Do not accept formula.
i)
2NaOH,,, + CO,,,, — NayCO;y,, + H,0, 1
a)i) To lower the melting point of sodium chloride.v'1
ii) Carbon.V1 It does not react with chlorine.v1
Anode

2CI;,, = Cly, +2e41

Cathode

l-"u'q:_l.} +2e— l-"l.-rqil.:, vl
b) It requires a lot of electricity.V1 c)
-In street lights.

-Coolant in unclear reactors.

Compiled & supplied by Schools Net Kenya, P.O. Box 15509-00503, Mbagathi — Nairobi | Tel:+254202319748
E-mail: infosnkenya@gmail.com | ORDER ANSWERS ONLINE at www.schoolsnetkenya.com

Page 4



http://www.schoolsnetkenya.com/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/

